
Séquence de Nombres Linéaires (H)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 447 397 347Différence commune:2. 790 415 340 265 190 115Différence commune:3. 199 209 219 239 249 269 289Différence commune:4. 471 521 546 596Différence commune:5. 335 340 350 355 365Différence commune:6. 377 387 407 437Différence commune:7. 476 426 326 276 226 176 76Différence commune:8. 414 464 514 614 664 764 814 864Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (H) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 497 447 397 347 297 247 197 147 97 47Différence commune: -502. 790 715 640 565 490 415 340 265 190 115Différence commune: -753. 199 209 219 229 239 249 259 269 279 289Différence commune: 104. 396 421 446 471 496 521 546 571 596 621Différence commune: 255. 330 335 340 345 350 355 360 365 370 375Différence commune: 56. 347 357 367 377 387 397 407 417 427 437Différence commune: 107. 476 426 376 326 276 226 176 126 76 26Différence commune: -508. 414 464 514 564 614 664 714 764 814 864Différence commune: 50Mathslibres.com


